Tableaux des Puissances de Dix (C)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (C) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0001 0,01 0,001 0,1
15 0,0015 0,15 0,015 1,5
99 0,0099 0,99 0,099 9,9
74 0,0074 0,74 0,074 7,4
79 0,0079 0,79 0,079 7,9
27 0,0027 0,27 0,027 2,7
X 0,001 0,1 0,0001 0,01
36 0,036 3,6 0,0036 0,36
70 0,07 7 0,007 0,7
23 0,023 2,3 0,0023 0,23
42 0,042 4,2 0,0042 0,42
73 0,073 7,3 0,0073 0,73
X 0,1 0,001 0,01 0,0001
7 0,7 0,007 0,07 0,0007
25 2,5 0,025 0,25 0,0025
28 2,8 0,028 0,28 0,0028
94 9,4 0,094 0,94 0,0094
14 1,4 0,014 0,14 0,0014
X 0,0001 0,01 0,1 0,001
74 0,0074 0,74 7,4 0,074
76 0,0076 0,76 7,6 0,076
11 0,0011 0,11 1,1 0,011
37 0,0037 0,37 3,7 0,037
49 0,0049 0,49 4,9 0,049
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